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Institution B 홢 ,., , . 40 60 100 Kandidat A: 홢  X 2 + 홢  + 홢  -  1,2731 

B  x 2 + -  1,2590 
125 135 530 

15 40 200 C: x 2 H , , = 0,9136 
125 135 530 

10 15 150 D: X 2 o + , + , 홢 = 0,5541 
125 135 530 

A er valgt. 

. 215 - 50 600 . Institution 0 Kandidat- A: X 2 + 홢 홢- = 0,6637 
965 310 10550 

200 90 6000 B: X 2 H .  ̂- = 1,2735 
965 ,310 10550 

c: - 300 X 2 + -  7 0  + -  700= 0,9139 
965 310 10550 

D: J »  x 2 + = 1,1487 
965 310 10550 

B er valgt. 

. 25 - 10 170 Institution D Kandidat A: X 2 + = 1,3435 

15 20 100 
B: 7 0  X  2  + -  5 5  + - 380 = 10554' 

C: - i l -  x 2 + J ? _  + - ? ? -  = 0,6900 
70 55 380 

D: -  2 0  X 2 + - i ° -  + J Ü L  = 0,9111 
70 55 380 

A er valgt. 


